P 2L d https://lwww.pass2lead.com/c1000-039.html
ass ea 2024 Latest pass2lead C1000-039 PDF and VCE dumps Download
https://Pass2Lead.com

C1000-03995%As

Foundations of IBM Cloud V1

Pass IBM C1000-039 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass2lead.com/c1000-039.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

C1000-039 PDF Dumps | C1000-039 VCE Dumps | C1000-039 Practice Test 1/3


https://www.pass2lead.com/c1000-039.html
https://www.pass2lead.com/c1000-039.html
https://www.pass2lead.com/c1000-039.html

P 2L d https://lwww.pass2lead.com/c1000-039.html
aSS ea 2024 Latest pass2lead C1000-039 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Which two tasks are required when updating a function in IBM Cloud Functions?
A. Package any application dependencies

B. Reset trigger

C. Update business logic

D. Create new Persistent Volume (PV)

E. Update Java Classpath

Correct Answer: DE

QUESTION 2

In relation to Block Storage, why is | OPS an important consideration?

A. It can have an impact on application performance

B. If the slices are too small, an application will not have enough storage

C. The higher the flow, the faster the disk spins which can cause data corruption
D. A system must be designed so that it stores less data than this total

Correct Answer: A

QUESTION 3

Which statement describes IBM Cloud Private?

A. An application platform for developing and managing containerized applications

B. A dedicated on-premises instance of Cloud Foundry

C. A Cloud Foundry based environment designed to orchestrate microservices across cloud service providers
D. A multi-tenant platform built on Kubernetes designed to host cloud native applications

Correct Answer: C

QUESTION 4
Machine Learning uses which approach for learning through trial and error?

A. Probabilistic Learning
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B. Deductive Learning
C. Iterative Learning
D. Reinforcement Learning

Correct Answer: D

QUESTION 5

What benefit does IBM Cloud Functions provide?
A. Pay per execution

B. Preferred deployment

C. Resource monitoring

D. Dedicated container

Correct Answer: C
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